KZEIBEIH A EBEET

SEEIRNL %

BANE 27 29 56
A 33 23 56
(B PN 21 24 45
A A B 6 8 14
JEC AL 4 5 9
VRPN 14 14 28
YN 2 2 4
4Ezt 107 105 212




K ZEEI3E2H A EBEET

SEEIRNL 5 2z

BANE 19 13 37
BN 20 24 44
(B PN 2 4 6
A A B 1 6 7
JEC AL 7 3 10
VPN 2 2 4
HEPN 1 1 2
T 52 58 110




K ZEEI3EIH A EBEET

SEEIRNL 5 2z =r

BANE 13 22 35
BB 24 24 48
(EZPN 11 8 19
A AE 6 3 9
JEC AL 6 3 9
VPN 8 8 16
YN 0 0 0
T 68 68 136




KZEE3FEAH A EBEET

SEEIRNL %

BANE 12 21 33
A 19 14 33
(B PN 6 3 9
A A B 6 6 12
JEC AL 7 7 14
VRPN 2 2 4
YN 3 3 6
4Ezt 55 56 111




K ZEEI3ESH A EBEET

SEHIR 5 2L

BANE 16 28 44
BH AR 17 18 35
(E=VN 5 5 10
A AE 4 5 9
SECAEL 8 4 12
SEHEPN 9 9 18
3PN 0 0 0
e 59 69 128




KZEEI3EOH AL EBET

SEHIR 5

BANE 17 20 37
BH AR 21 12 33
(E=VN 3 4 7
AN 5 5 10
SECAEL 7 6 13
SEHEPN 2 2 4
3PN 4 4 8
e 59 53 112
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